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ARFMRETABICED A b— 7 EEE 5 BRIEEE R R

HH RS : -Tee v BAMEA/EBME 5200 Keal/h
6.0 Kw
‘ =RABEEH/ B 1.45 Kcal/s

Av : A bM—7HREIREHEHE
Av ({8 m=) = 0 x 0 = 0 mm?
Av (EmFEm)= 0 x 0 = 0 mm?’

Ah : A BM—7KEREEHIE
Ah = (Fyva)y7 WTE=M =N EEOH-RREITE) X (RAXHEIE)
Ah = 0 X 0 = 0 mm?

Ls : A b—7SaI 90K 2R

Ls (Almm) = 24 X J AV({EIE) = 0 mm
Ls (E@E) = 24 X JAVGE®E/EFm) = 0 mm
Ls (Fm) = 159 X VAV(IEE/EE) = 0 mm

Hs : A b—7 SR EEREM

1000000 )
Hs = 0.00106 1+ Ah = 0 mm
Ah + 80000

Ds : Ab—7Hu YRR
Ds = HEZZSRIIE,

| HHE. 15480kcal/s LI DRF—T




